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2020A3        (2D GEOMETRY, RATES) 

L1: 𝑇𝑜𝑡𝑎𝑙 𝑙𝑒𝑛𝑔𝑡ℎ = 𝑅𝑢𝑛𝑔 𝐻𝑒𝑖𝑔ℎ𝑡 ∗ # 𝑜𝑓 𝑅𝑢𝑛𝑔𝑠 + 𝐺𝑎𝑝 𝐻𝑒𝑖𝑔ℎ𝑡 ∗ # 𝑜𝑓 𝐺𝑎𝑝𝑠 + 𝑇𝑜𝑝 𝐺𝑎𝑝 + 𝐵𝑜𝑡𝑡𝑜𝑚 𝐺𝑎𝑝 

𝑇𝑜𝑡𝑎𝑙 𝑙𝑒𝑛𝑔𝑡ℎ = 30 ∗ 258 + 270 ∗ 257 + 125 + 125 

𝑇𝑜𝑡𝑎𝑙 𝑙𝑒𝑛𝑔𝑡ℎ = 7,740 + 69,390 + 125 + 125 

𝑇𝑜𝑡𝑎𝑙 𝑙𝑒𝑛𝑔𝑡ℎ = 77,380 𝑚𝑚 = 77.38 𝑚 

 

L2: Using the total height calculated in the L1 question, Justin needs to climb 77.38 m. 

𝑅𝑎𝑡𝑒 =
𝐷𝑖𝑠𝑡𝑎𝑛𝑐𝑒

𝑇𝑖𝑚𝑒
 

3 𝑚/𝑚𝑖𝑛 =
77.38𝑚

𝑇𝑖𝑚𝑒
 

25.8 𝑚𝑖𝑛 =
77.38𝑚

3 𝑚/𝑚𝑖𝑛
 

So, it will take Justin 25.8 minutes to complete the climb. 

 

A One Energy technician climbing the tower ladder.

 


